. METO/[, NHTEPBAJIOB

3.1. x*>0.

3.3.—2'1'1)0.

3.5.

3.7.

x-1 1
> —.
x—1 2
2

3.11. (" - 2) > 0.

3.9.

xX—3

3.3 x + 1> 1 g,
X b 4

3.15. (x - 1)(x = 2)*>0.

3.17. (x + 2)(x + 3)*<0.

3.19. x’°<a.
3.21. x*< -4
3.23. ax>0.
325 ax = a.
3.27. (x — 2)(x — a)<0.

3.2. x’<0.

34. x(x*+1)>0.

36. >—— = 0.

3.8.

x-1
x—1

2
3.12. (" = 2) > 0.

3.10.

< 1.

x—3

3.14. (x=1)(x=4) > 0.
X—4

3.16. (x — )(x + 2)° = 0.

3.18. (x +2)(x - 3)* < 0.
3.20. X’ =2 a.

3.22. x> - &4

3.24. ax<1.
3.26. a°x < 0.
3.28. (x — 3)(x — a@)*>0.

3.29. (x —3)(x —a)*=0. 3.30. (x — a)(x + 2)*<0.

331l (x—a)(x +2)°< 0.

333 &=9NCx=a o,

xX—a
Pelumrs CuCTeMmy:

(x<1,
3-34- b
xX>a.

(x*— 120,
30360 4

kx<a.

332 B=9G-a ,

xX—3
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1

3.39.
3.40.

3.41.
3.42.

3.43.
3.44.

3.45.

3.47.

3.48.

3.49.

(x=2)((x+4)(x—T7)=0.
x—4)x+7N(2x-35)(x+2)=<0.
(2x + 3)(x — 5)(x + 4)*>0.

(x — 3)*(x — 1)(x + 8)(x — 6) = 0.
(x +6)(x + 1)(x — 2)’(x - 3) < 0.

-2
3 +5 <o
(x+3)(4-x)(2x+95) > 0
Bx-=1)(x+4) )

Cx-1)'x+35)

(1 — 4x)(x + 3)*(x — 8)

(x — 5)(2—x) (x-—6) (x+9) < 0.
(1 -5x°x-17)

(x + 1)(4x + 7)(x — 10)° > 0.

(x+4)(3x - 6)
(3x + 1)(5x - 6)(x - 11) <o

(x—4)(1- 7x) (x—23)

351 (xX*—49Hx+ D(x*+x+1)>0.

3.52.

(x-2)(x*—1)(4x - 5 - 3x‘)

3.53.

x+7

(x* — 2x + 8)(x* — 8) + 2x (2x — x° —8)

x+3

X=-x*+x-1

3.54.

3.55.

3.56.

X+5x-6

x"+x2+1
X—4x-5

x+8 <0

>
x+2 2 0.

<0
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x2—5x+7

3.57. 3 >
-2x"+3x+ 2
3.58. (x* = 9)(x* — 7x + 10)(x* — 7x + 13) > o.
(Zx + 7)(3 — 2x)
3.59. (x* - 5x° +4)(x + 7x% — 18) _ > o.
(x - 4" (3x - 5)
3.60. (*' -~ 8)(x" - 6x - 7)
(3x — 2x* — 4)(3x* — 10x + 3)
361, & —3?2)£’1)"('2"+;)8" 8 .
3.62. % "'3" =x'-3
x’ — 64x
3.63. (x*+ 16x2)(9x - 27x%) > &
2x% - 5x + 2

3.65. (x —5)(x+ 4)(x*+ 6x+9) = 0.

3
3.66. *=3*%2 < o,
6 —x

3.67. (x*+2x—15)(x* —4x + 3)(x — 1) < 0.
3.68. (x*—9°(x+1)(x*-2x-3)(x—-1)<0
3.69. (x* — 4x)(x* + 2x — 8)(x* + 7x + 10) < 0.
3.70. (x*=27)(x*+ 1)(2x +3 —x%) = 0.

4x° —4x + 1
(x + 4)(x — 3)

3.72. (x*—4)(x*—4x+4)(x* - 6x + 8)(x*+ 4x + 4) = 0.
3.73. (2x* — x - 5)(x* — 9)(x* — 3x) < 0.
(x* — 10x + 21)(x* — 6x — 7)

(x* + 5x + 6)(x* — 4)

3.71.

= 0.

3.74.
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4

1

Sx+8

3.77. L < L 3.78. T <2
x 1 1 3
3.79! x—s > 2. 3.80. x+2 < x_3.
2x— 5 1 4 2
3.81. x’—ax—7<x—3' 382 -+ 75 <L
x—1 x+1 2(x-3) . _1
3.83- x x—l<2' 3'84'x(x—6)\'x—1'
2x+3 1 x+7  3x+1
3085a "-<-_. 3-86- ;0.
X+x-12 2 x—35 2
2x 1 1 1 1
3-87- x2_9$x+2. SI”Ix_z x—l ;;-
7 9
3.89. (x—2)(x—3)+x—3+l<o'
390. (xX*-x-1)(x*-x-7)<-5.
2x + 3
3.91. (x*+ 3x)(2x + 3) — 16 - >
( ) ) 2+ 3x
3.92. x’—6x+us%.
393. (xX*+2x+ 1)(x*+2x - 3) < 5.
2 1 1
394 Z+7 S x+3 "3+l
395. 2%+ 2 +1 — —> <o
X +x+1
1 1
3.98. = =3 <3
3'”. |x+2|_x<2l
X
Ix+ 3| +x
L] L] > .
3.100. ————>1

3.101.

x’—lxl - 12
x—3

= 2x.
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3.102.

3.103.

3.104.
3.10S.
3.106.

3.107.

3.108.

3.109.

3.110.

3.111.

3.112.

3.113.

3.114.

3.118.

s 1.

x*-4
(1x! = 3)(Ix} + 7)<0.,
(Ixt =8(Ix1 =7 =<0.
(IxI = 17)(1x| + 6) = 0.

2 3
x —8x — % — 4] + 18 <0.
x*+ 10x S __ 4150
|x + 5| )

x+4 <1
x+2
X=31 5.
xX-35
12x — 1]
X+x-2
|x — 1] 1
x¥2 XT3y
2 < -
xix-—1|
2
X 27|x|+10<0.
X—6x+9

2

-3+

x2 x+2 <1
X+3x+2
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3.1. x<0wm x>0. 3.2. 0. 3.3. x<O0wm x>0. 34. x>0.
3.5. x<0. 3.6. x<0 mwm x>0. 3.7. x<1 wm x>1. 3.8. x<1
wm x>1. 39. x<1 mm x>1. 3.10. x<1 am x>1. 3.11.
x<3 wm x>3. 3.12. x<2, wm 2<x<3, wm x>3. 3.13.
—1<x<0 mm x>0. 3.14. 1<x<4 mwm x>4. 3.15. 1<x<2
wH x>2. 3.16. x=-2 mm x21. 3.17. —3<x<—-2 wm
x<—3. 3.18. x=3 wm x<€-2. 3.19. Egm a<0, TO Her
pemermit; ectm a>0, 0 — Va<x<Va. Vxazanue. Ilpa a>0
JaHHOC HEPaBEHCTBO PABHOCHJIBHO HEpaBeHCTBY |x| < Va. 3.20.
Ecm a<0, To x — moboe; e a>0, 10 X< —vVa wm
x=2vYa. 3.21. Ecm a# 0, T0 HeTr pemeHnl; e a =0, TO
x=0.322. Eoma=0, 10 x<0mmx>0; ecma#0, TOX —
moboe. 3.23. Ecm a=0, 10 Her pemeHmii; ecm a<0, TO
x<0; ecsm a>0, To x>0. 3.24. Bcn:na-—o ™0 x — moboe;

ecE a<0, mx>l;ecm1a>0 'rox<—.3.25.Eoma=0

™ x — Jmoboe; ec:ma>0 ™ X2 lec.rma<0 ™ X< 1.

3.26. Ecm a=0, T0 x — moboe; ecom a# 0, 0 x < 0. 3.27.
Ecm a=2, T0 HeT pemeHmid; ecm @<2, TO a<x<2; ecnm
a>2, o0 2<x<a. 3.28. Ecmm a< 3, T0 x>3; ecm a>3, 10
3<x<agwmwm x>a. 3.29. Ecm a=3, 70 x 2 3; e a<3, 10
x=agWwH x=23;evma>3, 10x23. 3.30. Ecma=-2, 10
xX<—-2;ecH ag>—2, T0 —2<x<g WM X<-—2; ¢CyIH a< — 2,
T x<a. 3.31. Ecm a=-2, 0O x<€-2; ecm a>—-2, 10
x<ag el a<—-2, M0x<ammx=-2. 332. Ecm a=3,
T x>35; e a<§, T a<x<§ wm x>5; ecy;x a>§, 1
x=2a. 3.33. Ecm a=35, 10 x<§5; ecm a<35, T0 a<x <€ 5 mm
x<a;ec a>5, 10 x<a. 3.34. Ecm a =1, T0 pemennd HeT;
ecm a<1, 10 a<x<1.335. Ecma< —2, 10 —2<x<2; ecym
—2<a<2, 10 a<x<2; ecE a2 2, 70 pemena# Her. 3.36.
Ecm a<€ -1, 10 x<a;, ecmm — 1<a<1, 70 x< —1; ecm
a>1, 1 <€x<awmx< —1.
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3.39. [—4; 21U [7; »). 3.40. [-7;, —21U [2,5; 4]. 3.41.
(—o; -4 U (-4-1,5 UG »). 342, (-8;11U [6; »)U

U{3}. 343. (—»; —6]U[-1;3] 3.44. (—%; 2]. 3.45.

(—o; -49U(=3 -2,5U (% 4). 3.46. (—; -5 U
U (o; —}) U 8; »). 3.47. (- »; —9]U (% 5] U@ =) U
U {6}. 3.48. (—=; —4) U ( Lo 1) U 2; 100 U (10; ).

-1
3.49. -%; %) U (% g] U@ 4 U {11}. 3.51. (-2; -1) U
U@; ©). 352 (= -nUE1; 1)HU@ »). 3.53
(—o; —3)U(-2; 4). 3.54. (—8; 1] 355 (-; —2)U

U [1; »). 3.56. (- 1; 5). 3.57. (— %; 2|. 3.58. (-w; =311

Us 21U 351 3. (-2 -vZ1U (-5 11U
u [«z— JUZOUE =, 360 |- Yuwau
U 7; ). 3.6l (- —-2)U [—\/3__;—I]U(1; vi U
Ui =)Ufo}. 362 (o -8)U(-10U(Q; 8).
3.63. (% 2) U@G; »). 3.65. (—; —41U [5; «) U {-3}.
3.66. (—>; —21U (6; =) U {1}. 3.67. (—=;—-51U {1; 3}.
3.68. [1; 31U {-3;-1}. 3.69. (- »; -51U [- 4;01U {2}.
3.70. {—1; 3}. 3.71. (- o; —4) U (3; m)U{%}. 3.72.

(—o; —21U [4 @)U {2}. 3.73. [-—3: 1—m] U

4
U [o; 1+4~m—] U@ 374 (-3 -23U(=2; —11U

U@; 31U 7). 3.77. (-=; 00U (1; »). 3.78. (—»; 00 U
U@ »). 3.79. (—; =5 U (S; »). 3.80. (-4,5 —2)J

U 3; ). 3.81. (= »; =1) U (3; 7). 3.82. (= »; —1) U (1; ).
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3.83. (—; -1) U (05 2] U (15 ). 3.84. (= w; 0) U (1;6).
3.85. (— ;-4 U [-3;3) U [6; ). 3.86. [1; 31 (5; ).

387. (—»; =3)U(-2;3). 38. [-v2;00U@u;v21U
U (2; »). 3.89. (-5 1)U (2; 3). 390. (-2; -1 U (2 3.

391. [-4-3)U [— %; o) U [1; «). 3.92. (0;11U (2;3].

393. [-1-V5;-1+V5]) 394 (—=;-51U (—3;—%) U

Ul-2; -1). 395 (-2;1). 398. (—=;-5UJ(-33)U
U@G; ©). 3.99. (—«; 00U (@1; »). 3100, (-5-2)U

U(—l; ®). 3.101. (— e«; 3). 3.102. [%, 1) U(l; ®). 3.103.

(—w;—41U [-1; 11U [4; »). 3.104. (- 3; 3). 3.105.
[-7;-51U 15 71 3.106. (—»; —171U [17; ). 3.107.
[3; 4) U (4; 51. 3.108. (—; — 10) U (0; ). 3.109. (—; =3].

3.110. [45 UG »). 3111 [_5"6“ 109; —2) U

U (1; ‘/ﬁ_l ] 3.112. (-2; 1 -V7) U (2V2; »). 3.113.

[-1; 0). 3.114. (= 5; —2) U (2; 3) U (3; 5). 3.115. (0; o).






